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SECOND YEAR HIGHER SECONDARY MODEL EXAMINATION,
MARCH 2022

Part - il Time : 2 Hours
COMPUTER APPLICATION  Cooi-off time : 15 Minutes
(COMMERCE)

Maximum : 60 Scores
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General Instructions to Candidates :

® There is a ‘Cool-off time” of 15 minutes in addition to the writing time.

e Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.

@ Read questions carefully before answering.

® Read the instructions carefully.

e Calculations, figures and graphs should be shown in the answer sheet itself.

e Malavalam version of the questions is also provided.

. e (Give equations wherever necessary.

l ® Electronic devices except non-programmable calculators are not allowed in the

1 Examination Hall.
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1.

12.

13.

15.

16.

17.

PART -1

Answer any 5 questions from 1 to 9. Each carries 1 score.
is an example of exit controlled loop.

What is the size of array in the following C++ declaration statement ?
int num[10];

What will be the output of the following C++ statement ?
cout<<strlen(“Welcome™);

Write the keyword used to declare a variable in JavaScript.
Give one example for FTP client software.
The person who is responsible for controlling Database is

Which of the following is not a DBMS package ?
(i) ORACLE

(i)  SQL Server HSSIiVe. in
(i) MySQL —
(iv) HTML sslive i

Write an example for ERP package.

is a technology used to send multimedia data using mobile phones.

Answer all questions from 10 to 13. Each carries 1 score.
is a library function that helps us to terminate a C++ program.

Write the full form of HTTP.

What is a nested list ?

In DBMS, storing of same data in multiple locations is called
PART - 11

Answer any 2 questions from 14 to 17. Each carries 2 scores.

What is array traversal ? Give one example.

Write down the names of any two web hosting methods.

What is meant by constraints ? Give one example.

Explain any two benefits of ERP.
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PART -1
1 2)®a8 9 oo caosiEnglad ago@slele S n@%@bﬂ(ﬂ' DTN DB .
1 capod aflow. Bx1=85)
GG SMESIW Elja i1 B0} RBIAOEEMA0ET

@00¢ 935G CH++ AW GEoaum cReAaZI@d BREOWOS size af)(®@oem ?
int num{10]:

®06% A0 C++ CUGOATFOM D315 af)T0EM

cout~ trlen(“Welcome™);

22000MlaiGlad 80} caidlemiled Wwlgod e2190mes HCAUBW af) IO

FTP g@af cruoafoai@aim; 80} 980a006Ms af) 91

aogoeenimilam mlElanmm @y @M.
®069 6305003 DBMS 106808 GREJOODN® aB® ?
(i) ORACLE

(ii) SQL Server HSSIiVe.in

(ili) MySQL

(iv) HTML ”’m

ERP a10¢o9=M 80} 9B2a006Mo af)$)@)d.

O200MMUDS GaL0MB DalcIUlay) 2W3gIAII® AWQ ERWEPIMBB HSHEMOBE
_ wyem.

10 2@ @3 13 QIOO af)EI0 GaldBEBAEN)e DTMNOHAE;®) . 1 ¢mpad allo..

4x1=4)
80) C++  Galowde mmmomhﬂoemnﬁ MmO TVaN0XAENAN  eeENETUC]
aDoNAUMOaN

HTTP @)9s af)B6mM 0)alo af)9)®)d>.

OIRW BNqY afaNOT3 ag)T6T ?

DBMS-@3, 8360 awog aarieidlde quceiemglcd TVord@laMMGIOMm ag)omy’
afigleamm;.
PART - 11
14 @ 17 Ao ca13ienglal (gomsilels 2 afgRamlm 2omANARI®)d:.
2 capod afla.. 2x2=4)

af)TNEM @REO (SIOAIBTVLA3 7 B0} DBIANOEMo af)¥)D))d.
ABO®BEI) O6NE HAINT Ga0dTow) BITHDBBOS CalDLHUD af) PY)w:-
Constraints ag)ano@3 af)T® ? &0} DBIANDEMo af)P)®)d.

ERP ©)6S ngo®&1ei)o 06ME 62ajsor3ud Aluadlaalas)s.
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Answer any 2 questions from 18 to 20. Each carries 2 scores. 2x2=4)
Give names of two parameter passing technigques in (++,
What is Content Managements Systermn (CMS) ? Write one example.
Using example, explain the use of ORDER BY Clause of SELECT command.
PART - 11}
Answer any 3 questions from 21 to 24. Each carries 3 scores. Ix3=9)
Write the names of any three fundamental data types in C++,
Compare static and dynamic web pages.

Write the data tyvpes of following values in JavaScript ?
(1) true

(1iy =300

(i) *“School”

Name any three fundamental operations in Relational Algebra. Give their symbols alsc.

Answer any 2 questions from 25 to 27. Each carries 3 scores, (2x3=0)
Compare break and continue statements in C++.

Read the following statements :
char name[20];
cin>>name;

cout<<name;
(i) What will be the output if vou input the string “Sachin Tendulkar™? (1)
(1) Justify your answer. (2)
Write port numbers for the following services : oA / {3
(i) HTTP HsW&
(iiy SMTP ey
(i) DNS w7

PART -1V

Answer any 3 questions from 28 to 31. Each carries 4 scores. 3x4=12)

What is token in C++ 7 Name any three tokens.
List any four built in functions in C++.

Which are essential tags of HTML ?

(ay is an attribute of <SCRIPT> tag. (1)
{b)  Write the built in functions in JavaScript for the following :
(1)  to display a message on screen. (H
(11) to convert uppercase to lowercase. (1)
(1ii) to find the character at a particular position. (1)
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2 ¢apad allao.. 2x2=4)
= T3 Qe al0@aZ1gd a0nUleud asatilenaaes Cal@hiB MEGBB)h.

ANIDWTY BOSTBAF 206D 20F Mlgye (CMS) 7 50 9300006Mo af)$ ).

DBIAOREMo  DAICQI ), SELECT SH20mMaLload ORDER BY apam  clause
01CWOUlEn ;M NN FlH0139)d.

PART - 111
21 ol 24 w92 cansmglal agomsilens 3 ADIRADIM DOMOHDE} e
3 eapod ailm.. 3x3=9)

T+ @3 988 ~joDalelp 2)01 @rslaunom WY 2OSABANS CalBBUB af)9)®)d.
GRIGid. 99 UMITE HAUMNT Ca it B0 1 D2l
JavaScript-33 6% alo@ymalwies AIQOESA DS AT,

i

ti;  true (1)  -300 (1i;  “School”

OlcEIntm@d AapBElmieion: gomelens 200 AslTunom  (lidemmeng)es
Gn1Y MOBD: k. GRAIWES allamama)e MB3DH6.

15 3@l 27 a0 calaiemalal POMBDIELe 1 af)INATIa) QOO )d:.

3 capod oflow. 2x3=6)

{+-@3 break, continue agyail CAVTORRIHUS DOBDAY> Da i .
@IOFAUDWIAN CAVIORBFBHUB 00T H9)S

char name[20]; Hsslive. i,

CHY™>>name; \\

cout<<name; WWww.hsslive. in
(i) “Sachin Tendulkar” apom (Yo M@BBI@O@3 agyemoeiclan)s B371504)5 7 (1)
(i)  mlemses gomes TLIW TP )
@O0 CaLAUMEIRDBNIQT O35 CaloBg MIUOWSHUD RO ITND 3)
(y  HTTP (i)  SMTP (i) DNS

PART -1V

28 @t 31 Ao @203 \snslal OB 3 INOTIN DOMOOA) D).
4 6apod afle.. B3 x4=12)

CH+ @8 65009618 ag)mOms ag)amoe)'? AHOTVERELo QYT CSOBOFTDBHRIES Gl NHTBh)h.
CH+ @8 apomerleiio 4 snilaedg s afowlatm)mdd Ay .
HTML-e03 anaivey s00)adB sgomonaswosm ?

ay Mm@y <SCRIPT> soulo B30 arySleniyg s, (1)
(b)  @miqomamaigoml JavaScript-o3 oes BG-GB 2 LoTHMIBUB o) 9} :
(1) @;k‘fﬂma 830 TLEMWo (_nJB@U’G1tH1c3€)O(T3. (1)
(i) el GRA’O Haidiw m&%mm?@em@”mgon& (1)
(1) B0 (MIEDG TLOIMID DB BRSO DB NI, )
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B. Answer any 1 questions from 32 and 33. Carries 4 scores. (1x4=4)

32. Write down the uses of following tags :
(i) <SELECT>
(iiy <FIELDSET>

33. Write short note on any two examples of Cyber Crimes against individuals.

PART -V
Answer any 2 questions from 34 to 36. Each carries 6 scores. Q2 x6=12)

34. Write the HTML code to generate the following table :
Eoll | Name Class
100 . AB | C2

101 L PQ L Cl
‘102 KXY | Al

35. (a) Definethe following terms of RDBMS . @)
(i) Tuple cvein
(ii) Relation I:Ei‘_lzi'_/'
(iii) Degree www hsstivedn
(iv) Cardinality
(b) Write down the Degree and Cardinality of the following relation : (2)
Regno ~ | Name Mark |
‘ 101 | Sachin 380 |
L 103 (Fathima | 420
| 106 | Bincy 400
| 108 | Joseph L350 |
36. (a) Pick the odd one out from the following : Given reason also. 2)
(i) CREATE

o (i) SELECT
(iify UPDATE
(iv) DELETE

(b) Consider the given relation ITEMS.

Ptemcode Name ‘ Price ‘

001 Pencil | 8.00
" 002 ‘ Pen
003 | Notebook | 15.00
o 004 | Pen (200 |
(i) Suggesta suitable primary key for the above relation. Give reason. 2)
O (i) Write SQL statement to list all the items in the table. 1)
(iii) Write SQL statement to list itemcode and name of all items. 4}

—
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2,0 33 A1e0  calsienglal aBo®®lene SOINATIM QOMOODY) D).
(1x4=4)

B 32
4 capod.

Sl D8P0 SOUBHEINS DAl AP}
(1)  <SELECT>
(i) <FIELDSET>
QU BOGOTNIR B TUTUB BIBIDMEMA  afemBIE)0 AOEBIPOHODaG]
©210l@ d)0la] a1 M.

PART -V
34 mad 36 WD caldayEmalcs BOOBIELL 2 af)INOIN DONOOAE)®).
6 capod all.. 2x6=12)
34, I 935 3M19)8B al5lss qsaylanom pas HTML CHOW af) ) :
_ Roll Name  Class
100 AB Cc2
101 PQ Cl
102 L XY Al
33 (@) anaes ae:0s)emdlee)m RDBMS eel aizsmdd mBq)ailes)s : )
(1)  Tuple (i) Relation

(iii) Degree (iv) Cardinality

(b) ™oy eamldlas)an dleelauend @l 2BWIMoeglwio ag)9)m)@: : 2)
Regno Name Mark
101 Sachin 380 ‘o
103 Fathima___| 420 Hslive.in
106 Bincy 400 www.hsslive.in
108 Joseph 350
36, () @500l O ISOTIND) nf)S)ODDNE)D))b. 8ajo HOVEMo af)P)ODHWo HalYd.  (2)
(i) CREATE (i) SELECT
(ii1) UPDATE (iv) DELETE
(b))  madsloldle)m deelnuad ITEMS alAleM)o)H,.
Itemcode | Name Price
001 Pencil 8.00
002 Pen 10.00
003 Notebook | 15.00
004 Pen 12.00
() ;adlon agleg armcwinriaow 8®) primary key a@e3udlae)s.
BOVEMo af)$)®)H>. (2)
(i)  agleviecs aDRP MMamg elqueaaigimmais’ ogs SQL eg}gg“mmcrg
af)$1oN>. 1)
(it)) itemcode 9o o0 DMDBZOSW]o Gald)e QY ealgom oas SQL
@g};ghmng af)®1OD. N
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